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I. Analysis of 2 mwn: the dispute and arguments
a. yw17 7. is consistent — he interprets vv. 1&2 as demanding 2 of each day of vy “na%” —
b. &”1. interprets them as a choice - either 'n% 1513 or ©d% 912
c. All agree: that myaw, naw (v. 3) and oa (v. 4) must have 03
i. Note: R1277 112 90 wouldn’t fast on m»aw (AN nn), M4 and 2"y (v. 5 — eating on 9t::fasting on 10%)
1.9 7 would make a special meal on m»aw — what makes him special is 17!
2. 7w ‘1. studied nin “for himself” (proper beginning mode) — but ideally, v. 6 — to maintain the universe
ii. Challenge to 8”1 (»wx 77): if V"1 NIRON is OK for mwA, (not Maw), > on Naw (only Mx¥n DIVWN NIRYNA is )IMN, not Maw
1. Answer: X" prioritizes mxn Yv maw
II. Alternative dispute (xn’2)
a. N7 if permissible to do narYn after NV’NY, certainly in order to enable it!
b. 77 once nvnw is done (also, NY’NY might be invalid; this argument is challenged for that negates nv'nw itself)
III. Analysis of nktn’s role in the arguments
a. p”7. told 8™ that he had taught him that nxtn doesn’t trump naw — why did 8" deny it?
i. N5 miscommunication: ¥ was referring to nXtn for nog; X" thought he meant nxtn for eating nmn
ii. /727 8™ forgot what he had taught and " “gently” reminded him
b. Reason: for prohibition of nawa nxn
i. 727 might carry it 9”192 mnr 7
1.Challenge: to X", let him carry it (naw pmT mxn »»wIn)
a) Answer: X" only allows mxn »pwan if the man is already “fit”
i. Implication: according to X", we only heat up water on naw for a healthy baby
1.Challenge (727): if he’s healthy, why heat it up?
ii. /727 we consider all babies “ill” re: n%n and we don’t heat up water for any of them
2.Challenge (»ax): an %1y is culpable (even though he wasn’t “fit”) for missing noa
a) Answer (727): 8" holds that we don’t do 1”071 for a yIw Rnv
i. Only: those invalidities that an individual uses for 2% noa trump the public
1.mm57y: is not trumped by public (they must all do n%’n); but nkmv is trumped by public
a.Therefore: 97y is culpable; nn &NV isn’t “fit” >even 8" wouldn’t allow mxn *wan for him
2.Challenge: 7w ®nv is included among those who may do »w noa
3.Answer: even though he is “fit”, nxrn is for nar >dispensible
a.Unlike: nonw for sick, he is fit to eat
IV. na%n follows »™ (any preparations which could have been made before naw are not done on naw)
a.7 said same thing in reference to dispute re: nawa non
i. Justification: of both statements

1.If: he only made statement about noa, 8”70 everything trumps for n’n due to 13 covenants associated with it
2.1If: he only said about n%n, 8”10 preparations aren’t done on naw because no (immediate) n13, unlike noa
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